Board
1

Simulation 1

Board 1 48754
North Deals YyAQ765
None Vul +962
& ]
A9 2QJ106
v83 v4
¢+ KQ5 ¢+AJ843
Q87532 & K64
aK32
vyKJ1092
¢+ 107
&A109
West North East South
Pass TD!

South calls the TD after the pass out of turn by West.

East says that North took the pass card already.

What does the TD decide?

pass out of turn [Laws 28, 29, 30]

The TD needs to find out (from the players) that North already took a pass card out of the

bidding box, before the TD was called.

Incorrect - TD decide that north did not yet bid (the card was not out of the bidding
box), then he should apply Law 29A and gives North the option to accept the pass
from West (no further rectification) or if North does not accept the POOT, apply Law

30B1.

Correct - TD applys the bidding box regulations (If the Pass card was fully out of the box,
then it deemed bid), Then 28B is applied - the pass by North was in turn, no further

rectification.
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Simulation 2
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Simulation 3

Board
)
West North East South
1e TD!
INT Pass 3NT
Pass Pass Pass
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Simulation 4
2

Board 2 Y]
East Deals ¥ AJ10
N-S Vul +K6543

&#AQ102
4QJ53 4 AK109872
vyK73 v652
¢AJ7 +9
&»K95 &84

Y

vQ984

+Q1082

&J)763
West North East South

3e Pass

34 Dbl

The TD asks who called. It was South.

Although it seems as if north accept the inseficient bid — it is not the case...

(If TD does not realise that — west will ask to talk to him and explain.)

The TD needs to take West away from the table and ask him why he bid 3.

West will tell that he thought he had bid 4a (and that what he intend to bid) when South
called the TD to his surprise.

Ruling

insufficient bid [Law 25A (16C2)]
e The TD will conclude that West’s error was a slip of the hand. LAW 25A1.
e The TD shall replace 3a by 4 4.
e The TD shall remove the dbl by N.

e The TD should inform the table that North is free to bid (bidding continues) and the
canceled dbl by North is Al for S and Ul for EW (Law 25A6)

21 14 Ty



Simulation 5
3

Board 3 406
South Deals v10873
E-W Vul ¢AKQ10854
&7
aAKJ32 41085
vQJ5 YyAKG64
*2 ¢73
&#AQ84 »KJI62
4Q974
v92
¢J96
10953
West North East South
Pass
1e 3¢ 3e Pass
4 All pass

Contract: 4s by west.
Lead ¢ A, ¢Ktrumped with A2, &4 to &K in dummy.
Trick 4: Declarer asks for 410 but dummy plays a5 instead.

After North wins the trick with a6 declarer discovers what has happened, and calls TD.

card played, non-designated card by dummy [Law 45D]

A 10 is played from dummy trick 4 (evidence that this was also West's intention, is shown

also by the play of a3 from his hand).

Now South knowing that a6 is in North, covers the 410 with the aQ thus making sure of a
spade trick, even though West can change his card as well. Now West calls the TD.
Covering the 410 with the 4Q by South is allowed, he can change his card and the #6 in his
Partner hand is authorized information (Al) for him.

If South changes his card also West is allowed to change his card. There are no penalty
cards.

If South changes his card, South holding a4 is Ul for West.
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Simulation 6
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West Deals YAT
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Board Simulation 7

5
Board 5 aA9
NorthDeals ¥ K (Q)J109
N-S Vul ¢AJ106
&»K54
410832 aKJ65
v7532 v Q)4
+98 ¢+KQ75
&T83 Q96

The ®Q is in North's hand instead of East's.
North calls the TD “I have 14 cards”
TD asks if he looked at his cards — he said YES.

The other players start counting their cards — NOT YET LOOKING AT THEIR CARDS.

14/12 Cards (Law 13)

This simulation tests if TD can prevent the identification of the hand with 12 cards so that
North will not know who has the ¥Q.

Correct - TD MUST ask all players to put the cards back to the board without counting them,
and play another board while he will correct the situation.

In this case, after correcting the situation, TD will allow a regular play in the board (Law
13A1)

Incorrect — TD do not act on time and South announce he have only 12 cards.

Under Law 13A2 the TD will allow the board to be played, but should tell players that he
may adjust the score after play.

Exercise can be without knowing who had 12 cards and also with knowing who had 12 cards.
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Simulation 8 A & B

Board 6 aK8643
EastDeals YK96
E-W Vul *2

&#AJ73
aQJT2 497
vT742 vAJS8
+T8 +A973
#K54 27862
a A5
vQ53
+KQJ654
2009

3 « by North

trick | East | South | West | North

1 *2 *Q *K %A | wins the trick
+3 +K +8 2
+0 T v6
T 9 ®4 *J
*6 A5 AT *3
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Board
16

Simulation 9A

West North East South
le Pass 1v
Pass 1a TD!
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Simulation 10
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7
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Simulation 11

Board
8
Board 8 aAJT94
West Deals v6
None Vul ¢73
&#KQT86
a72 Q853
vyAKJ84 v95
¢AQ92 ¢+ KJ54
& A5 972
4 K6
vQT732
¢T86
&J43
West North East South
24 TD!
TP 6-10 — 1 270 + 4 - NPT 2 ARIAY 24 N2 KW 1257 19X
22PN RY 1080 .MPPW M9 DY 70207 I Mnna Yan
West North East South
26 TD!
1v 1e INT Pass
3NT Pass Pass Pass+TY
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- Simulation 12 A & B
Board
9

Board 9 «0Q83
North Deals %1063
E-W Vul +Q87
&#K982
41096 N a K
vyQJl742 W £ vAK
¢Al4 S 49653
&J7 &#AQ10653
aAJT7542
v985
¢+ K102
&4
West North East South
Pass & 1a
Dbl 24 Dbl: Pass
3v Pass 3NT All pass
1. extras

Contract 3NT by East.

Lead a5 won by East’s aK

A) Declarer plays vA,vK and then ¢3 to ¢ A in dummy. He calls “heart” and dummy
plays the »Q.

NS call the TD — they think that dummy should play the v 7, East will say — of course | meant
the Q...

B) Declarer plays vA,vK and then ¢3 to ¢ A in dummy. He calls “heart” and after a very
short pause say — “the vQ”.

NS call the TD — they think that dummy should play the v7, East will say — of course | meant
the Q all the time...

designation of a card from dummy [Law 46]
FOR BOTH CASES:

Incontrovertible that East wanted Q. (Law 46B introduction)
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Board Simulation 13 A & B

10 Board 10 4842
East Deals v843
Both Vul ¢+ AKJI96
&»J)2
49753 N «Q106
v962 W £ vYyAKQ
* 4 S 10873
#KQ10814 &#963
s AKJ
vJ1075
¢+Q52
»AT75
West North East South
Pass I NT
Pass 3NT All pass
3 NT by South

West leads the K&, then the Q. South ducks the second trick put places his card (7#)
pointed incorrectly lengthwise towards his partner.

A) Dummy draws declarer’s attention to the incorrectly pointed card and south corrects the
direction. West continues clubs and south wins with the A%. He takes his 5 diamond
tricks and then plays 2 from dummy to his J& and makes 9 tricks. EW call the director
and say that if dummy had not drawn attention to the incorrectly pointed card, declarer
would have thought that only 2 spades were needed for 9 tricks and might not have
risked the finesse.

No adjustment. Law 65B3 (Law 42A2 refers)

B) Play continues (no one remarks on the incorrectly pointed card), declarer wins the third
club, wins 5 diamonds and is to play from dummy. Now dummy draws attention to the
fact that the second trick was won by EW. Declarer plays a spade from the table to his
jack and makes 9 tricks. EW call the director and say that if dummy had not drawn
attention to the incorrectly pointed card, declarer would have thought that only 2 spades
were needed for 9 tricks and might not have risked the finesse.

Probable adjustment. Laws 65B2, 65B3,16B (extra. Info. from partner)
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Board Simulation 14
11

Board 11 V-
SouthDeals ¢ AQJ
None Vul & K6

4J9 4108
V- v6
K .-
2Q2 298

Q-

vo

+5

21075

4% by south - position after 8 tricks

Summary of first 8 tricks: Declarer won 5 tricks (finessing the ¢ K twice) and lost 3 tricks
(KQ¥ and Ke).

Trick 9 - declarer plays ¢ A from dummy, ruffed by East; South follows suit but West
discards a spade.

Trick 10 - East continues with spades, ruffed by South.

Trick 11 - South crosses to K and the last 2 tricks (12 and 13) are West’s, revealing West’s
revoke in trick 9.

Dummy calls TD - results at the moment - 4% -3

The TD asks who called.

It was dummy, North - The TD will conclude that North was entitled to call the TD, since the
board had already been played.

West revoked but did not make the trick in which he revoked (his partner did). EW made 2
more tricks after the revoke trick and EW already had 3 tricks before the revoke.

ruling
. EW have to transfer 1 trick according Law 64A2, but this is not enough...

. Using 64C: insufficient compensation — if the revoke has not occurred, NS can take 4
out of the last 5 tricks.

. TD transfer 2 to tricks instead of just 1 - result: 4% -1
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Board Simulation 15

12
Board 12 o
WestDeals ¥QJ873
N-S Vul +0Q38
é_
R N & K
vyAl1l065 W 5 v
+J93 S 6542
&~ Q38
4J109
| J—
¢ AK107
*_

South is declarer in 34. He is on the lead and claims saying “I play #J and will only lose K ”.

EW don’t agree and call the TD. They say that declarer has 2 lines of play. If he plays for a
diamond finesse, he will lose another trick.

e The TD asks who called: It was East.

e TD considers Law 70.

e Declarer has two reasonable lines of play: play for the drop in diamonds or else take a
finesse. Law 70B2: EW made a good point. Law 70D1: every doubtful point is
explained to his disadvantage. Declarer loses another trick.
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Board Simulation 16
13

Board 13 4QJ862
NorthDeals ¥QT54

Both Vul +86
SAT
4 K3 a5
vK9 v86
¢QJ972 ¢+ AK543
Q852 *J9643
AaATO74
YAJT732
*T
K7
4 & by South
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Board Simulation 17
14

Board 14 aKQ107
East Deals vQ9753

None Vul ¢+ K4
*32
s A N 4J9
vJ1064 W £ vyAKS82
+Q8752 S ¢A1063
Q75 *J106
4865432
| J—
¢+J9
*AK984
5 ¢ by East

Lead #A, &K, %9 trumped by North with ¢ 4.
v 3 returned, v2, trumped with ¢9, v4.

%8, 42, oK, ¢A

This is the position

East claims the remainder of the tricks stating “Now trumps are out, and | will take another
heart finesse”

N/S object. East could enter dummy with a spade and South will get another heart ruff, East
will reply that that would be silly. Of course he will cross to dummy with ¢ Q.

Law 70C3

TD will not allow declare to draw trumps, and Declarer will lose another trick when finesse
in H. results: 5¢ -3
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Board Simulation 18 A & B

)
Board 15 aKJ92
SouthDeals ¥654
N-S Vul
4aAQ5 48764
vAlJ v7
¢+ AKS83 49542
&»KJ43 »AT765
aT3
vyKQT9832
+QJ
Q38
West North East South
a2
3NT
(14) NP °an o08%p porma 17V ,0117
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'_
+J9
&»AKO84
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Board Simulation 19
18

Board 18 495
East Deals vJ642

N-S Vul +KJ32
*A98
aAT762 aKQJ84
vK5 v87
+865 ¢AQ7
2QJ2 *T74
a3
YAQT93
+QT4
&K653

Av ommamoonT
22X ,(Y3) 700 157 Ja-1 oy nwn (K- oy omp 77I90) 1t L7101 4 -2 Twnn 4A -2 52m 279
.Qa-1 oy 3 nepoa wnn 2% v XYW [

To PR PRI YNDINT T, 54 -7 QY DOWH 2791 ,an1T P10IR T 44 -1 DX pRwn ampha aotw ot
2" 01070 4

253 P
N2 XOW 777237 AN NKR? W AP0 A22570 DR 22200 SRw 117

27917 (W IR OR O3) MOR YT TN 22K, WY K92 7 nnn Qe -1

21 nn 19 Tiny



Board Advanced - Simulation 20 A & B

17
Board 17 aAJ4
North Deals vyK4
None Vul +8654
&»TO72
4aK8653 T
YATH532 vQJ86
*T ¢+QJ2
& A5 &#KQ643
Q972
v97
¢ AK973
&])8
West North East South
Pass Pass 1@
240 Pass 3NT Pass
49y Pass Pass Pass
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Advanced - Simulation 21 (similar to 11)

Board
8
Board 8 aAJT94
West Deals v6
None Vul *73
&#KQT86
o772 Q853
YAKJ84 v95
¢AQ92 ¢+ KJ54
& A5 &9072
a4 K6
vQT732
¢+T86
&J43
West North East South
24 TD!
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West North East South
24 TD!
1v 14 INT Pass
3NT Pass Pass Pass+TY
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